	Вариант I

Решите  уравнения

х4 - 24х2 - 25=0

х3 - 7х2 - 4х+28=0

(х2-2)2 + 16(х2 - 2) -161= 0

(х2-2х)( х2-2х- 27) +72=0
	Вариант II
Решите  уравнения

х4 - 8х2 - 9=0

х3 +3х2 - 4х- 12=0

(х2 - 9)2 + 8(х2 - 9) -105= 0

(х2 +4х)( х2+4х -17) +60=0

	Вариант III

Решите  уравнения

х4 - 12х2 - 64=0

х3 - 5х2 - х+5=0

(х2-2)2 – 12(х2-2) -161= 0

(х2-5х)( х2-5х+10) +24=0


	Вариант IV
Решите  уравнения

х4-2х2-8=0

х3+х2 -9х - 9=0

(х2+3)2 – 32(х2+3) -273= 0

(х2 - 7х)( х2 -7х+22) +120=0



	Вариант I
Решите  уравнения

х4 - 24х2 - 25=0

х3 - 7х2 - 4х+28=0

(х2-2)2 + 16(х2 - 2) -161= 0

(х2-2х)( х2-2х- 27) +72=0


	Вариант II
Решите  уравнения

х4 - 8х2 - 9=0

х3 +3х2 - 4х- 12=0

(х2 - 9)2 + 8(х2 - 9) -105= 0

(х2 +4х)( х2+4х -17) +60=0



	Вариант III
Решите  уравнения

х4 - 12х2 - 64=0

х3 - 5х2 - х+5=0

(х2-2)2 – 12(х2-2) -161= 0

(х2-5х)( х2-5х+10) +24=0


	Вариант IV
Решите  уравнения

х4-2х2-8=0

х3+х2 -9х - 9=0

(х2+3)2 – 32(х2+3) -273= 0

(х2 - 7х)( х2 -7х+22) +120=0



	Вариант I
Решите  уравнения

х4 - 24х2 - 25=0

х3 - 7х2 - 4х+28=0

(х2-2)2 + 16(х2 - 2) -161= 0

(х2-2х)( х2-2х- 27) +72=0


	Вариант II
Решите  уравнения

х4 - 8х2 - 9=0

х3 +3х2 - 4х- 12=0

(х2 - 9)2 + 8(х2 - 9) -105= 0

(х2 +4х)( х2+4х -17) +60=0



	Вариант III
Решите  уравнения

х4 - 12х2 - 64=0

х3 - 5х2 - х+5=0

(х2-2)2 – 12(х2-2) -161= 0

(х2-5х)( х2-5х+10) +24=0


	Вариант IV
Решите  уравнения

х4-2х2-8=0

х3+х2 -9х - 9=0

(х2+3)2 – 32(х2+3) -273= 0

(х2 - 7х)( х2 -7х+22) +120=0




